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Look back on one"s eating habits of the nurse and effect to dietary guidance

NISHIDA, Yoriko

2,300,000

The purpose of this study is to consideration the problem of the dietary
guidance of the nurse. The eye measurement of the food weight and nutritive value calculation was
eerrienced, and recognition of necessity was investigated.

The nurse estimated quantity of seasoning and oil too much. There was also a lot of eye measurement of
the energy intake. The nurse had little implementation of the dietary intake measurement, nutritive value
calculation. Necessity of looking back of its eating habits also recognized after half year, and more
than 70 percent of nurse felt necessity of dietary guidance ability reinforcement. There were the opinion
that the eye measurement experience of a food raised knowledge of nurse"s dietary guidance, and which can
be utilized for dietary guidance. For reinforcement of dietary guidance ability of the nurse, the need to
arrange the opportunity of the on-site trainings such as the nutritive value calculations of the diet
regularly was suggested.
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